FlexFusion™ HCAI Heavy Duty Bracket Kit
n “ IT Part Number(s) : XG-UNHCAIBRKT

© Panduit Corp. 2023 INSTALLATION INSTRUCTIONS V00029XN

Components included: Tool list:

e Floor Anchoring Hardware
| (not included with the kit)

<2 255

HCAI Heavy Duty Brackets
Qty. 8

M10 Bolt Screw
Qty. 8 15mm Socket Wrench
(not included)

HCAI Heavy-Duty Bracket Installation:

¢ Adjust the leveling legs to the extended position to clear casters by 1/4”

e Attach the HCAI Heavy Duty Bracket using (1) M10 bolt by using the 15mm
socket wrench, ensure the shortest flange is towards the cabinet frame

e Install the remaining brackets as shown

e Adjust leveling legs to be flat with the brackets on the ground

e Secure with OPM specified hardware (not included in the kit)

¢ Attach OPM Label where shown

(4) M10 Bolts
torque to 360in-lbs/ 40.5N-m

T T

(4) HCAI Heavy
Duty Brackets

(4) M10 Bolts
torque to 360in-lbs/ 40.5N-m

OPM Label

Dt o ettt = | B A

' : o[/ |®

3 >
4) HCAI Heavy Duty Brackets h
(4) y Duty \b

For Instructions in Local Languages E-mail:
and Technical Support: n"IT techsupport@panduit.com

. Phone:
www.panduit.com www.panduit.com 866-405-6654

Page 1 of 1



